
ON ON KiLLING A 
TEXTUAL GRAMMAR 

Change 

the voice of the following sentences 
It takes much time to kill a tree. 

Ans 
Not a simplejab of knife will do it. 

AS 

Hack and chop it. 

AnS 
This alone won't do it. 

4 

Ans. 
5. Not so uch pain will do it. 

Ans 
The root is to be pulled out. 

Ans. 

7It is to be roped, tied and pulled out. 

Ans. 

R.I The root is pulled out entirely from the earth-cave. 

Ans. 

9. The strength of the tree is exposed. 

AnS. 

10. Then it is done. 

Ans. 

11 It is to be roped. 

Ans. 

Join the following sentences 
It takes much time to kill a tree. Not a simple jab of knife will do it (Join into complex) 

Ans. 
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S. GRAMMAR QUESTION BuNCH (FOR CuASS-AI 

grown 
slowly. 

(Join 
into 

simple) 

2. I Ithas consumed the carth. It has gr 
out of it. (Join ir 

Ans. ears 
of sunlight, 

air and 
water. It rises out of i 

3. It feeds upon its erust. It absorbs ye 

Ans. 

Hack and chop. This alone won't do it. 
(Join 

into 
compound) 

Ans. 

SThe bark is bleeding. It will heal. (Join into 
simiple) 

The miniature bough may be 
unchecked. It will expand again to 

former size. 

The root of the tree is pulled out. Then the strength of the tree 1S exposed. 

(Join int 
Ans. 

xposed. (Join 
Ans. 

ne source is white and wet. It is the most sensitive one. (JOin 
nt0 Simple) 

complex) 

Ans. 

Ans. 
9.The source is white and wet. It is the most 

sensitive one. (Join into 

Ans. 

The miniature boughs will expand again. They will take the former size. (Make jt s 

Ans. 

Split into simple sentences 

1. It has grown slowly consuming the earth. 

Ans. 
2. The tree rises out of it, feeding upon its crust, absorbing years of sunlight, air and wa 

Ans. 
3.| The bleeding bark will heal and from close to the ground will rise curled green twigs 

Ans. 

4. The source, white and wet, the most sensitive, hidden for years inside the earth. -

Ans. 

5. It is to be roped, tied and pulled out. 

Ans. 

Do as directed 

1. It takes much time to kill a tree. (Make it complex) 

Ans. 
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It takes much time to kill a trec. (Turn into egative) 

ON KiuLING A TREE 

AUs. 

Not a simple jab of knife will do it. (Turn into interrogatd 
3. 

ative) Ans. 
Not a simple jab of Knife will do it. (Turn into affirmative 

4 
Ans. 

.It has grown slowly consuming the earth. (Make it compound) Ans. 

It has grOWn slowly. (Use the noun form of gr grown and rewrite) 
Ans. 

It has grown slowly. (Use the adjective form and rewrite) 
Ans. 
It has grown slowly. (Turn into negative) 

Ans. 

9. It has grown slowly absorbing years of sunlight, air and water. (Make it complex) 
Ans. 

10. Out of its leprous hide sprouting leaves. (Use the noun form and rewrite) 
Ans. 

11. This alone won't do it. (Turn into affirmative) 
Ans. 

12. Not so much pain will do it. (Turn into interrogative) 
Ans. 

13. Not so much pain will do it. (Turn into affirmative) 

Ans. 

14 The bleeding bark will heal. (Make it complex) 

Ans. 

15 From close to the ground will rise curled green twigs. (Make it complex) 

Ans. 
16. From close to the ground will rise curled green twigs. (Noun form of 'eurl') 

Ans. 
17 If unchecked, it will expand again. (Make it complex) 

Ans. 

18. If unchecked, it will expand again. (Turn into negative) 

Ans. 
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CRAMMAR QuESTION BUNCH (FoR CIASS-XIU 
and rewrite) 

19 unhesid. it will epand again. (Use 'unless 
ana 

The root should he pulicd out entirely. (Use the adjective 
form and rewrite 

20. 
rewrite) Ans. 

21. roi shouid he puiled out entirely. (Turn into negative) Ans. 

Ans. 

he 
source. white and wet. is the most 

sensitive part. 
(Make it complex) 

Ans. 

23 i he bleeding bark will heal. (Use the noun 
form and rewrite) 

Ans. 

24. It has grown 
slowly, absorbing years of sunlight, air and wate. 

(Make it compond 

An ITIONS 
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